Dr.Surendra Kumar Class-B.A.Part-1

Production Function: Meaning, Definitions and Features!
Production is the result of co-operation of four factors of
production viz., land, labour, capital and organization.

This is evident from the fact that no single commodity can be
produced without the help of any one of these four factors of
production.

Therefore, the producer combines all the four factors of
production in a technical proportion. The aim of the producer is
to maximize his profit. For this sake, he decides to maximize the
production at minimum cost by means of the best combination
of factors of production.

The producer secures the best combination by applying the
principles of equi-marginal returns and substitution. According
to the principle of equi-marginal returns, any producer can have
maximum production only when the marginal returns of all the
factors of production are equal to one another. For instance,
when the marginal product of the land is equal to that of labour,
capital and organisation, the production becomes maximum.

Meaning of Production Function:

In simple words, production function refers to the functional
relationship between the quantity of a good produced (output)
and factors of production (inputs).

“The production function is purely a technical relation which
connects factor inputs and output.” Prof. Koutsoyiannis



Defined production function as “the relation between a firm’s
physical production (output) and the material factors of
production (inputs).” Prof. Watson

In this way, production function reflects how much output we
can expect if we have so much of labour and so much of capital
as well as of labour etc. In other words, we can say that
production function is an indicator of the physical relationship
between the inputs and output of a firm.

The new production function brought about by developing
technology displays same inputs and more output or the same
output with lesser inputs. Sometimes a new production function
of the firm may be adverse as it takes more inputs to produce the
same output.

Mathematically, such a basic relationship between inputs and
outputs may be expressed as:

Q=f(L,C,N)
Where Q = Quantity of output

L = Labour
C = Capital
N = Land.

Hence, the level of output (Q), depends on the quantities of
different inputs (L, C, N) available to the firm. In the simplest
case, where there are only two inputs, labour (L) and capital (C)
and one output (Q), the production function becomes.



Q=t(L,C)



